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Special Problem 2.6-7 
 
Consider this circuit, where the transmission line is lossless and has 
length 4= λ : 
 
 
 
 
 
 
 
 
 
 
The wave incident on the load ZL has power of Pinc =0.49 W. 
 
The wave reflected from the load ZL has  power of Pref = 0.09 W. 
 
 
      Determine the magnitude of source voltage Vg (i.e., determine gV ). 

 
 
Hint:  This is not a boundary condition problem. Do not attempt to find 
V(z) and/or I(z)! 
 

0 50Z = Ω  

4= λ

Vg 

20gZ = Ω  

125LZ = Ω

Pinc=0.49W Pref =0.09 W 


